
qm=;=           कायªøम / आयोजनाको नाम      िविनयोजन Ł.    कायाªÆवयन हòने Öथानf       s}lkmot

s= s[lif tkm{

1= u'D;f ufFFhl/ l;rfO kfOk s'nf]] lgdf{0f 500000 cfbz{ $ lxGg]sf8f

2= 8fj/sf6\6] s'nf kf]v/L lgdf{0f 500000 cfbz{ $ e'jfufpF

3= sfga'l8 l;rfO s'nf] lgdf{0f of]hgf 200000 cfbz{ $ e'jfufpF

4= a8\8f] s'nf] lgdf{0f 300000 cfbz{ $ e'jfufpF

5= dxgfn kf]v/L lgdf{0f 200000 cfbz{ $ b]lxufpF

6= l5Dt kf]v/L dd{t -Knf:6/_ 300000 cfbz{ $ k5]l/ufpF

7= juf8]vf]nf a'8L v]tL l;rfO kf]v/L lgdf{0f 400000 cfbz{ $ /f]l8ª

8= d'nkfgL l;+rfO{ kf]v/L lgdf{0f of]hgf 500000 cfbz{ $ kfTn'

9= u}/L ufpFl;rfO{ kf]v/L lgdf{0f 400000 cfbz{ $ u}/L ufpF

10= uf}/]nL s'jf dd{t of]hgf 100000

1= t]8L b]ptf dlGb/ -e/f0f_lgdf{{{{0f of]hgf 1000000 cfbz{ $ e'jfufpF

2= t]8L b]ptf dlGb/ -e/f0f_lgdf{{{{0f of]hgf 350000 cfbz{ $ 8f]s6 ufpF

3= ef6's dlGb/ 3]/jf/ lgdf{0f 300000 cfbz{ $ b]lxufpF

4= b]lxdf08f} b]vL lxg]uf8fF ;8s lgdf{0f 250000 cfbz{ $ lxGg]sf8f

5= :j:Yo rf}sL, gdf]bo,wf}nL v]t ;8s 200000 cfbz{ $ e'jfufpF

6= /f]l8ª ufpF b]vL w'n] ;Dd af6f] 9nfg 500000 cfbz{ $ /f]l8ª

7= b]lxdf08f} b]vL b]lxufpF ;Dd af6f] u/fOe]n 500000 cfbz{ $ b]lxufpF

8= 8f8f jf3 b]jtf -e/f0f_ lgdf{0f of]hgf 200000 cfbz{ $ u}/L ufpF

cfbz{ ufpFkflnsf 

ufpF sfo{kflnsfsf] sfof{no 

klZrd rf}sL, df}jf gu/bx 8f]6L
& gDa/ k|b]z 

cf=j= M )&%÷)&^                                                       j8f g++= $ sf of]hgf tyf sfo{qmdx?                                                              

k'jf{wf/ tkm{



1= yfkf ufFp vfg]kfgL-OG6]s_ lgdf{0f of]hgf 300000 cfbz{ $ e'jfufpF

2= k"0f{ ;/;kmfO{ sfo{qmd 100000 cfbz{ $ dxfb]j:yfg

3= /f]l8ª  vf=kf dd{t of]hgf   200000 cfbz{ $ /f]l8ª

1= >L b'uf{ cf=lj 3]/jf/ lgdf{0f 250000 cfbz{ $ b]lxdf08f}

2= t]8L b'uf{ jfnljsf; 3]/jf/  lgdf{0f 200000 cfbz{ $ 8f]s6 ufpF

3= :jf:Yo rf}sL dxfb]j:yfg 3]/jf/ 500000 cfbz{ $ dxfb]j:yfg

1= t]8L b'uf{ s[ifL ;xsf/L ;+:yf 100000 cfbz{ $ e'jfufpF

1= s[ifL pGgthft jLp ls6gf;s cf};wL v/Lb 200000 cfbz{ $

2= e]6g/L cf}ifwL v/Lb 200000 cfbz{ $

1= dlxnf clej[bL tflnd 100000 cfbz{ $

2= afnaflnsf v]ns'b,afnd}qL Ifdtf clej[bL 250000 cfbz{ $

3= h]i7 gfu/Ls,c;fo,c;Qm,ckfË,Ifdtf j[bL 150000 cfbz{ $

4= k~r]afhf ;+/If0f ;+:s[tL hu]{gf 200000 cfbz{ $

5= sdwf/f cf/g -cfkm/_ dd{t of]hgf 100000 cfbz{ $

6= ljkb Aoj:yfkg sf]if 200000 cfbz{ $

7= e}k/L tkm{ 250000 cfbz{ $
                       hDdf !)))))))
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laifout tkm{
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